Sr

10

1"

12

13

14

15

Questions

oS 2 0S8 IR S o S 1973 S sl

= Jald (e Gsmd (S g el

1973 2 BUS Hiw S e

=l i des oS (el sl o a5 (e Sl (ST i (s st e

=) s (e LuSh

PEPEINCETSTANES NSRS PON P S TR TP g K e g W B S PN

;&fcﬁﬁdﬁgﬂé@)&

= Jeld (e Gamd (S s aSs]

= U sl JEie o Gl 2 G o Sie (30 Gl e sy (5o

=90 S gl geal paseaia S Gl sl plal S iy

= s sl gl s m SIS G (e G S O ot ity JSI ]

2SS Lo e g s s Siiad

It e oS JeT 8 g S il

53 aal€ Tl ) 5insd (g T8 (e e g8 ol (S

52 280 S 0l My (pe S el

OOwW» UOW » DOWP DOEP UODP 0UO0UP U0EP» U0W» 0U0Wr U0®P» U0D» U0Wr 00WP» U0W» 00w

Answers Choice

L Sied )y IS
L e

Cispd Sy Gl
a0 sl il s
Ui gLl

e
e
S
s

S RIS )

S adae

& iad J 81 )

S GRS gyl ye

‘)MIJJ
| sl

s
R

anNndw

S S s b
dudadi (g

Ul o S Pl A
oz ol

Dl e
syl
BE
Sy

Adac
D
o5

e

SR

s
s Al
s S
TS
Qs
LR

&"“:‘U‘J

Ea
s
A5

1680+
1789«
1875+
1970+



16

17

18

19

20

oS S JS (S ol S 21973 S s,

Uﬁwﬁwdﬁwe\.&uﬁ)}:\m).ﬁé

= S G el Blae S OV (e s (S

= BS s (el S Gl LR ) Gal (S GieSa RN L (e Sy o (S S 08 Qi (S s

e 0SS il

A Siad )b IS



